=
<

$£520 HAEERERAYYUITRFEXRE

SAF—LE FEL—EHFE

¥y

—_— s 1R 2P ER A 3R MR ; él é I%

BERSA |HO ®ERA |HC| ®FERA [HC| ®FR4 [HC k| #e | % |
HARIR E‘gt%w&ﬁti:y&w OB B 5| B M OB |0l & B O (|5 Al10] 18] 2
HRRI [ E ARG RETA B oM B A5 % M E B0 A fa| 5 Bl 6| 14|22
HRRU | E ARG HRETB o H B0 B oL & | 5| M odEET |20 B|22| 6| 14
HFER[EFRTYESHES AN FR R HS [ O I sm AT | 10| & TR HE B | o FF MR & — ol A 2| 10] 18
EE TN b w5 A 20| 7 wmdes 15| o m o m [0 m ow s < fio] A | 4 [12] 20
o L e e o] moE e[ s | oo B w1 |0 Al |62
IR |2 AR — e oA & | 15| ¥ & M W [15] B3 i K R0 Ali1s| 2] 10
BRI | Im A AR () O IE A [10] 2 m & K10 B H F1 5L |5 Bl1o]| 18] 2
e | T s g o om e fos| Bom ot i |10 B4 |2
IR ;’%g;i;éwwy@% Mobk Z o |5 B || o B |10 B|12]2] 4
BRI %g;z;;gﬂwy%) ZJIE 5| T EB || H B 5T |10 B|l16]|24] 8
g | [ 70T e g | s ek ws w [ o] e e v o f w7 o] B [ an| s | 16
T it Ll E TIPSO U e ] I S ) I A R 7
BRI | EIRR OB I A & S F |10l B % B F |20 /A B E — |10 Al12]2 | 4
R (IR EEHOB/ZYB| & M O E [10) £ A B % |20 &R OB B = |10 B|20]| 4|12
W [ ey | ® o0 o ol om = o| oo e [0 B || 2|10
HLTR B | O Al B A i AR B K| B B 58 =M || AKMIEB[5] A]16]24] 8
I B (32 T3 (1K) B OE Lol | A B K|o]® R B 10 Al22| 6] 14
R (e HIRIEEMOBITT | 2 & B 10| &5 A & 7 |25] B % IE 3% |25 Af20]| 412
FTREB (B RZE 777 A ANE | 5| MEBAET |25 AR ¥ |10 Al14f22] 6
FRHR UL | BRI B R 25 7B PNEERLF |20 xR ZED |30 = = 10 Al 6| 14]22
FRFR UL |BK IR B0 R 257 C WH E— |5 (AT A 10 =jf fE |10 B|l14]22] 6




B E5E RAREBRAY YO TRFEAR §

BB L—rEfRE

B4 HEA BT R4 H/C |v7h  1ElEE 2[F1H 3[m]
HER EFRIEEFOB moE LB 5 | A 23-2 8—1 16—2
=R e FREEMOB mofs R #| 10 | B 2—2 9—1 17—2
EFR EFRYESRS | B O E — | 0 | A 242 7—1 15—2
aFR PKIE RS m o OAEXT| 25 | B 1—2 10—1 18—2
AR %?E£%§XFU~($$) wOR o | w0 [ Al 241 8—2 15—1
EIRR ;ﬁ?];gww\/%) W% 10| B 1-1 9—2 18—1
IR ;,Véé;éww‘/%) T % % 2| 0 | B 2—1 10—2 17—1
A (G SR T2 (=5 KM WE Bl 5 | Al 23-1 7—2 16—1

SAF—LE REBL—VEIR

T @ EIER L—y FimIERL L—
EATDA 10 2 2EIA 4
VA 12 AT 2
IRY0A 8 0L 18
HANT 6 #1047 20
YA 14 1AL 22
6T 16 #1207 24




